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L. 2 mwn: parameters of validity for nay
a.  Essential invalidity: stolen or withered
b.  Theoretical nonexistence: if coming from nVWR tree or NN Y
c.  Local issues: if the top was cut off or the leaves fell off — invalid
d. Unique issue: a naxax is invalid
a.  However: if sere, or if some of the leaves fell off or if it is from Ypan N7 (rain-fed orchard) — valid
II.  mn»a defining a7y (all interepreting v. 1)
a. #1 5n 37y that grow by the river-bed ("»m” read as location) OR
i. Leaves: that have leaves that are elongated like a river-bed ("ym” as adjective)
b.  #2 5n1»27¥: use of the plural extends to ma1y that grow in mountains and in Yyan n1v
i. Dissent: 918 RaR reads the plural as alluding to 2 ma1y — a%% and v1pn
ii. 37 have a tradition (along with my»01 7wy and onn TE7) for N1y Mxn — M11Y” extends to 0N etc.
c.  #3 5ns 227y, excludes naxox and that which grows in the mountains
i.  Source (871 ’7): v. 2 — "nv” indicates that it wasn’t there before
1. Challenge (7ax): perhaps the text is explaining that a naxax grows by the water
2. Response: then it shouldn’t say 1w
a.  Defense: per 1nar "1 — Aggadic take on phrase
ii. Alternate version: of above repartee —xn» 1 quoted verse and X7t 7 was the one to challenge
d. #4 nnraadistinguishing: naxax from naay
i. /737 has reddish stem, leaves are smooth and elongated
ii. /79¥9y has whitish stem, leaves are serrated “like a scythe” and round
1. Challenge: Xn»»1 rules that if the n21y is serrated like a scythe — valid; like a saw —>108
2. Answer (72N8): the 8> RaY»n — a type of N2 — is valid, yet has scythe-like leaves
3. observation (2N): K9 RaYn is a valid nay
a. justification: since it has a nuanced name, "0 it is invalid - %"np
b. reason: »27y (plural) extends to allow variants
iii. Tangential note (X7o1 ”7): 3 things have “switched” names after the jamn
1. 727 is called naxay, and naxay is n27y — implications for o n "7 Mx¥n
791 is called nx¥n and vice-versa — implications for n"
717109 (table): - ’nmna (little table); xn1na - nna (big table) — implications for commerce
»an: added 82910 and »03 »2: (parts of animal’s stomach) — implications for ma»v
9017 /7 72 X37: 921 and g1 switched names — implications for nw1 07
II. 7 mwn: amount of each pn to collect (all opinions anchored in v. 1, per Xn»2)
a.  Sxypw /71299, 1 mny, 3 oTn (but only 1 need be uncut) and 2 maay
i. /1970 7. none of the 0’011 need to be uncut
y7. 1 of each
925K 71 (in 8112273): NINR stays separate from rest, per lack of M2'nn 1"}y before 0NN nas
d. Source: for their mutual interdependence: nnnp» — a “complete” taking (“nnn nnph”)
i. Challenge: to YRynw "1's position — he seems to require 3, yet allows for only 1 11770
1. Answer (78773): he changed his mind and allowed for only 1 o1
e.  Ruling (5810¥): per Na70
i. Note: %W is consistent — he advised vTn-sellers that if they raise prices, he’ll publicize V"2
1. Argument: he wasn’t threatening the most lenient available position — would’ve said "2
2. Rejection: perhaps v™’s position is more lenient than "
a. Reasoning: easier to find 3 cut mo71n than 1 uncut
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